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4, WASTE irea :
t1aving found the AFea ol x room, it ik nacetsary to allaw |
; ort the area iz 583 B¢ wabe, This
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The value of 3 cut length, where the eutting charge it 3 percentage of the byt s .
Thas o0 e s e o3 o e o181 i 2503 i T o she ke i can b skl s,
a1 follows, Sex 257 37 on Langeh and 67 an Width (if required; read 168 sq. yds, on D} than move iurmr‘:i’;ﬁ* d
C. bring 161 on P under cursor line and read 15.6 £, ar £15120,en D, : A5 e

6. PURCHASE TAX
Purchate Tax can simifarly be caleulated, either as a separate wm or else the bak price can be grossed up,
 If the rate of tax is 10% on invoice value less cash discount of 43%. the effective rate is 9.575%, To find
walue, including Purchase Tax, on £15.12.0, sec | on C over 15,6 an D, then move cunior to 1096 aa C and read
vor i set ever 988, For 15.6 L thin would be at
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m-ﬂggﬂ,-_:md:utq 14.95 on D. As 15.6 £ was reset at |.56, this 1495 £ m-u_t__bg_fg: ;: Iﬂi I;:ar I.I':!.IL i
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M o 187 % 187 tles et | gn ¢ 'Wtr:i;rdh' leaving 3 dozen tiles in excess o cover breakages, bad cuts, etc.
Tho abeve 8 100 SXack givay oope ¢ on D and praceed 33 before to find the numbse of tiles per dimensioa.
K rtﬂ-ﬂirlﬂjlé% Iﬂ Dl,'.| I'I'II'.‘qu- maur:l. E Pr H" EI L:ﬁ_ﬂ_lﬂl.ll‘_n Tlltl-. 9- _"ﬂ_g-: I?- x 11" Md IE' b 1E_" LT ﬂﬂl.'nil'lll
ﬂ&l and reset the glide. al i length. Therefore (on 18° x 187 tiles) £.g, secar 150 then move cursor

] Diagonal Designs

Calculation by piPEr and pencil for di ; ; : - #
ylide rule. For exace size tiles, dimensiony 1._::'-'.’“" detigns is much more difficult, but can 15 easily be done.on the
| 9 =124" or 1,06
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To find the number of tiles required to cover the arca, multiply the number in Lengch by the numbe
Width and then double che answer.
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Caleulating labour costd cin be dane very guickly on the slide rule, Asiume an ; :
e o o e e S (A 8oy 1 s
that 3.25 on C comes aver it. Move the cursor co | an C and, if required, read the TR b
ic. Than mave the 3lide o thar &71 on the Price scale comes under the curiar, Then rerd ol the cont'of T 1 & o

Costs far adhetive, seal, stc., can be ealeulated in the 1ame way. For 481 sq. vds. 1nd s T
of 19§ sq. ydv. o the gallon, tet 1,95 an C over 4.81 on D and read 1.47 under | -u.r? E :: ‘.tj-ll.?::m:: ::E:ﬁ;:
that 5 5 gah. will be juic enough, (Secting on the left-hand side on the scale s mare yccurste than uiing 48.3
and 19.5: commaon tente will indicate thar the answer is neither 2f nor 247 gallons,)

Any cotts can'be ealculated by setting che number of units (in gallons, pounds, containers, s1c.) on D, bringing

the price per unit on Scale P over it, then reading the valde on D or 5,

¥. PROFIT H_AHGIH-S
A dlide-rule is supreme when it comes to calculating percentages, for not only can 2 serier of percentage:

be thawn ata glanice, but when comparing two values, mark-up and discount are 1hown timultancouily, For instance,
1et_the cursar over 31 on O and bring 26 on C uader the line. Mow over 100 on D one can read that 26 i 8475
of 31 (Lo, 31 less 1654 dircount) and under | on C one reads that 31 1193 of 26 (e, 26 plus 1954 mark-up).
Supposing that the estimated cost of a contrace is £54.2.0 and you with to add 1 gross margm of 3743, Set
the cursor over 34.1 on D {or preferably over $.41 and multiply by 10 lager) and bring | oa C under the Ve Mow
move cursor to 1,275 on C and read the grossed-up value of £9.0 £ on D. Il 2 round sum of £70°h to be charged,
set the cursor over 70 6n D and read 1.29 on C, showing that the profit margin is now 2%%. To Wﬂ;". “‘-‘Er
gross profit on cost into grost profit on selling. price, set | on C over 127 on D and read 775 on' C over 100 on D.
-showing 2 22§74 profit on selling price; 28 i : o e s
-Shémiﬁl;.'!hq:.thﬂ actual cost of the contract proved to be £36,10.0, sot 56,5 on C over 70.0 on
read B0 on C aver 100 on D. This thows that only 1937 instead of 223794 wasachieved,
10. CONTRACT COST PER SQ. YD , i
L et b P bt 3 = . B PR o A s [ L o rda Ehh__'-"d
o, For large eontraces it i usual to quote a price p‘-gpfigi.yd'; rather than 3 lump sum. Since, thie yArdAge:if 2k
it i imporeant thae the estimated cost per 1q. yd. be as accurate as possible;
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ehat marerial eosr €
Lo © i bt (516 1664 on D prabe & PEF 10, yd. plus 3475 waste, phus Purchare Tax ¢ 107 nominal rate, 388
o 1096 and read 747 (51 ) on D Ifa ::;Jnrtmr Lo 1.035 on € for waite. bring | ¢n c l...-m'.,:-‘:.,.nr.:r and movs curier
Sy e ey A Ity diteount v javalved, Parchass Tiw il hive o be caleulaced yeparately

Supposng that laboor coxr iy &1}
22.5(1710}) on O under | on C,

Supposing-that adhesive cose 778 par 1 . i
fallon with a cosereng 2apacity, includia of 18} iq. yds. per
gallgn, set I8.5% an 'Cln'd'El' #0 on D and read 4.9d/sq. yd, on D under | on C, el Ao
Ae now Rave:

Pef hour ae 3} yards per hour, et 315 0n C guer 73.0 on D and read

Marvernal  T4.7d/5q. 4.
Labour 125
Adboiive 4.9

1021

Tea thiz mutt be added an allowanee for mitcellansous stores and lor travelling time and lares,

Haying arrived at a total cost of, say, 106,04, this must be grosted up to allow for Mew Profic, Overheads
and probably General Contraccor's Discount, Supposing that one aimed at 30% gros on tendered price, set 70 on
C (i.e. 100 less 30) over 100 en D. Move the curser to 1.06 on € and read 1i515 on D, This i 151.5d or 12/74.
Suppose that the quotation must be brought down to 125, Move the cursor bick to 149 on D, mave the slide
Back so that 1.06 comes under the line and read 71.2 on C over 100 on D. This shows a reduction in net profic of
some [{%% as comparad with che previous setting at 700, i

For the sake of case and accuracy, use the lefe-hand side of the rule, g, sot 7.47 rather than 74.7 and bear
in mind thac the answar must be muleiplied by ten. This-seunds complizated but soon Becodies wimArier. a1 habit.
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